
Multiply by Powers of Ten (A)Find each product.
98 × 10⁻¹ = 86 × 10⁻³ =
65 × 10⁻² = 19 × 10³ =
48 × 10⁻³ = 89 × 10⁰ =
3 × 10⁰ = 81 × 10³ =
41 × 10⁻² = 49 × 10⁻² =
41 × 10⁻³ = 72 × 10⁻³ =
75 × 10⁻³ = 38 × 10⁻² =
37 × 10⁻³ = 47 × 10⁻¹ =
26 × 10⁻² = 19 × 10² =
66 × 10⁻¹ = 77 × 10⁻³ =
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Multiply by Powers of Ten (A) AnswersFind each product.
98 × 10⁻¹ = 9.8 86 × 10⁻³ = 0.086
65 × 10⁻² = 0.65 19 × 10³ = 19,000
48 × 10⁻³ = 0.048 89 × 10⁰ = 89
3 × 10⁰ = 3 81 × 10³ = 81,000
41 × 10⁻² = 0.41 49 × 10⁻² = 0.49
41 × 10⁻³ = 0.041 72 × 10⁻³ = 0.072
75 × 10⁻³ = 0.075 38 × 10⁻² = 0.38
37 × 10⁻³ = 0.037 47 × 10⁻¹ = 4.7
26 × 10⁻² = 0.26 19 × 10² = 1,900
66 × 10⁻¹ = 6.6 77 × 10⁻³ = 0.077
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